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Note: Write Answers to the Questions on the nbjective answer sheat provided. Four possible answers A B, Cand U 10 each queslion are eé;weu. Wil

answer you consiaer correct, il the corresyanding circle A, B, C or O given in frogt of gach question with Marker or Pen ink on tfia answer sheat pravided.
M = Wp-i—im2g
LY ot {B) rid () R ) il
2. Inany A ABC /ﬁ;;—‘ is:
I (8) cos ¥, ©) . BasTly () Cos «
3. Cos (Tan™0) = ___ |

(A) =1 (&) 1 {C)

4. Solutionof 1 + Cosx = 0 in |0 2u| is:

W n ) -
5. Theset{1} possess closure propety under:

{A)  Addition (B)  Multiplication {c)
5. Afunction f: A4 - B is called an nto function if:

(A Rangeof [ = A {B) Range of [ # A (]

1 2 -3 E
Loffa={ 0 -2 of thenjd]=__ . \
-2 =2 1
A 4 {B) i {C)
8. If order of a matrix "A”is m 3 1. and order of matrixl "B 15 n 7]
) mxp 8) nxp ()
9 Therootsof x2 — 7x + 10 = 0 tre:
(A -2=5 _ ) 2,5
10, !, B are the roots of x&\:!x 4- & = 0, then sum of
2 z
A = B} Bl
3 \\ 3

11, Partial fractions o Z—i)le e’
A Py B \B} +£_§_+~L c __.4_+Bx+c 0} Ax + 8
W\ x=1 x+1 ; x \ x—1 x+1 ! P -
18,20 {8) (C) 0,2 ) 2,27
o b 4
© s 2 o) 2

in. G.P then commeon
7 © 4 o) 3

& arranged on a circular key ring:

ia)
15, In how many wa

{A) (&) 2 C 3 {0) 4
16. nt
(A} i) 2 {© 3 D) 4
17, The forla for ( + 1)th tern: of binomial expansion of (@ + x)™ is:
{ n - r ) 1] n nEr LT ™ L n = i n n+r
W () W ()err @ (Deer om (D)ax
18. Which one I1$ the quadrantal ancle:
(A) 30° (15) 45¢ (C) 60" {0) 90°
19. Cos2et=____ 5
(A 1—2Cos? {1 2 Cos? w —1 {© Sin « Cos o o) 25in « Cos o
20. Period of Cosec > is:
(A) Zar (ki) 41 () - 6m ()] 8
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SECTION- pf//lr-f 23
2. Write short answers uf any eight parts from the following: (8x2=16)
L Name the properties used in equations: (a): 100 +0 =100 (b):1000 x 1 = 1000
. Separate into real and imaginary parts, if Z = — iii.  Differentiate between Equal and Equivalent sets, with
L example,
V. Wite the set: {x|x € N /14 < x < 12}, in descriptive and tabular forms: V. Define semi-group.
_ . 3 1 «x vii. Ifthe matrices A and B are symmetric and AB = BA, show that
vi. Findvaluesofxif |-1 3 4{=-30 AB is symmetric,
x 1 0
Vil f A= [ ; 1 t :] find 4 + (A)* iX. Solve: x(x + 7)=(2x-J¥{k+4) by factorization.
X If w is a cube root of unity, form an equation whose roots are Zaw an
¥ Find two consecutive numbers, whose product is 132. xdi. i ee cube roots of -8
3. Write short answers of any eight parts from the following: o (8x2=16)
, 2 i lgar fracti i ' i
L. Without finding constants wirite ————(xj_} (;0“3 into partial fractions. decmﬁ';'ﬂﬁ’; Ll e

2-5x+6)

i Find the nth term of-sequence G)E,G)g( N W ¢ ' gtween 4 and 16.

2 3
1fy=§f+53‘—+5]—"—+ ..andif0 < x < 3/1,

13
Vi I 1p. & 1 il i . : -2 : 2
Find 120 term of HP: /3, %/g /g li “Kind the ter (x xz)
Vil How many words can be forned from PLANE using 1II tters when no letter is fo be repgated;

ix. Write formula for 'P. /ﬁm\ | % dig is thr@n. Find the gobability®fiat dots on top are prime numbers.
Xi. Expand (1 - x)'f2 up to %terms by binomial thepr m,

- . AT+ex 3
Xii. If x is so small = z1+?"

Write short : (9x2=18)
/‘D‘;’ﬁﬁ; word Tﬂgﬂrlﬂ elry” AV Find tang and cotd for 6 = =
. ' 3
Show AN p, o7 Find the value of cos (IE)
V. ~8Sin « Cos «. vi. Define the principal tangent function.

vi. Define the period of a Trigonometry function

.C MWhich: T = 90°, b =684, c =962
X i T p%600, r=15, b=v6
ABCfor b =216, ¢ =302, x= 5240

A,
it “BEfine the trigonometric equation. wii. Find the solution of Cosec @ = 2 which lie in the interval [0, 27]
SECTION-II
Note Attempt any three questions. Each question carries equal marks: (10x3=30)
-1 0 -3 8
5.(a) Find the matrix A if: [ I A= [ _7]

(b} For what values of “m’ th:a roots of the equatlon xt =201 +3m)x +7(3+2m) =0 be equal?

1 : ; e
6.(a) Resolve into partial fractions =—>--2x

) Find the values of n and r when o1 L Mo n+1c 9 6
r-1 il r+1
7.(3) Sumthe seriesuptonteims Z + (2 + 5} + (2 +5+8) 4~
() se binomial theorem to show that: T + + + 1: 152 =42

tanf+5ecd -1

8.18)  prove that = tanb + sgcﬂ (b) Prove that cos20° + cos100° + cos140° =0

9.(a)  The measures of sides of a triangular plot are 413,214 and 375 meters. Find the measure of comer angles of the plot.
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